EITEN
FRZF (S B _ME=ETARR)

P A S B 2 7

1 SINAERBEIRIEEARSE , BAERHEE=-GRE BREN=5439" (0
8182-f{1F28 ) =4204.67 , Flit T FERBMAHF0.7731 , {A1E#0.0451 ; 2
IhERE%) = cos(atan(FIHFE B/ I E)) =cos(atan(1676/5439))=0.96 ; 3 1113
REMNFENEUEE | IT0.850FinE | IRIESCRINZREHNERB LA EREE
##-1.1% ; 4 HiERHE=-ERBEHENARE=4204.67* (-1.1% ) =-46.25,

A H R EATREZ ?

1 SR BRRIREEEARSE , BAERER=-SRE BRBN=5439* (0
8182-1X1E2 ) =4204.67 , Mt T FEREMLAR0.7731 , {RAFE0.0451 ; 2
THEREE=cos(atan(FINEEE/GIHER)) =cos(atan(1676/5439))=0.96 ; 3 117
ZEMNRLERIBIEE | MT0.85NFInE |, IRIELRIREHEREBLEABERER
22-1.1% ; 4 AR ZE=-EHRBE HERE=4204.67* (-1.1% ) =-46.25,
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